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Maths
Multiplication and Division



Left or Right? 



Success Criteria

Aim
ÅI can multiply and divide whole numbers by 10, 100 and 1000.

ÅI can multiply and divide whole numbers by 10 by moving each digit 
one place to the left or right.

ÅI can multiply and divide whole numbers by 100 by moving each digit 
two places to the left or right.

ÅI can multiply and divide whole numbers by 1000 by moving each 
digit three places to the left or right.



Multiplying and Dividing by
10, 100 and 1000

How do we
multiply a number

by 100? Multiply it by
10 then by 10 again. 
Move it two places

to the left.

We are making
it 1000 times smaller. 

We divide by 10
three times.

True or false?
When we multiply

by 100, we multiply
by 10 three times
(Ȣ10 Ȣ10 Ȣ10). 

Why do we
move each digit in a 

number three places to 
the right when we 
divide by 1000?

False. We only
multiply by 10 two 

times because
100 = 10 Ȣ10.



Click on the boxes below to remind you how to multiply
and divide whole numbers by 10, 100 and 1000.

Which Way?

Go straight to Left or Right? Activity Sheets .

Multiply by 10 Divide by 10

Divide by 100

Divide by 1000

Multiply by 100

Multiply by 1000



Multiplying by 10
When we multiply by 10, the number gets 10 times bigger.
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3 5 3 4 20

The whole
number moves one 
place to the left. 

GU SQ^¬d
have an empty space 

before the decimal 
point.

So we put a
zero in here as a place 

holder. There are
0 ones.

35 342 Ȣ10 = 353 420



Multiplying by 100
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When we
multiply by 100,
what happens? 

The number gets
100 times bigger.

2 places
because we are

making the number 10 
times bigger, then 10 
times bigger again. 

How many
places to the left do
you think each digit 

needs to move
now?

What do you
think we do in the 

empty squares? 

GU SQ^¬d XQfU
empty spaces before
the decimal point.

So we put
2 zeros in here as

place holders. There
are 0 ones and

0 tens.

7400 Ȣ100 = 749 000












